
O−
8 (2).2 (mod 3)

blocks defect matrix

G : 1 4 23× 10
2 4 23× 10
3 2 9× 5
4 1 3× 2
5 0 56701 = χ29+, ϕ16+

6 0 56702 = χ31+, ϕ18+

Block 1: ϕ1,0 ϕ2,1 ϕ3,1 ϕ4,0 ϕ5,0 ϕ6,1 ϕ7,0 ϕ8,0 ϕ9,0 ϕ15,1

11 = χ1,0 1 . . . . . . . . .
342 = χ2,1 . 1 . . . . . . . .
512 = χ3,1 1 . 1 . . . . . . .
842 = χ4,1 . 1 1 . . . . . . .
2041 = χ5,0 1 . . . 1 . . . . .
2043 = χ6,0 . . 1 1 . . . . . .
3571 = χ7,0 . . . 1 1 . . . . .
4761 = χ8,0 1 . . . . . 1 . . .
4764 = χ9,1 . 1 1 . . 1 . . . .
5952 = χ10,1 . . . . 1 1 . . . .
7141 = χ11,0 . . . . 1 . . 1 . .
7143 = χ12,0 1 1 1 1 . . 1 . . .

10201 = χ13,0 . 1 . . . . 1 1 . .
11902 = χ18,1 . . . 1 . . . . 1 .
13441 = χ19,0 1 . . 1 1 . 1 1 . .
14282 = χ20,1 . . . . . 1 . . 1 .
21761 = χ25,0 . . . 1 . . 1 1 1 .
28562 = χ33,1 . . . . . 1 . . . 1
28563 = χ34,0 1 1 1 1 1 1 1 1 1 .
32642 = χ35,1 1 . 1 1 1 1 . . . 1
40962 = χ36,1 . . 1 1 . 1 . . 1 1
47602 = χ38,1 . . . 1 1 1 . 1 1 1
53552 = χ39,1 . . . 2 . . . 1 2 1

ϕ1,0 = 11
ϕ2,1 = 342
ϕ3,1 = 502
ϕ4,0 = 1541
ϕ5,0 = 2031

ϕ6,1 = 3922
ϕ7,0 = 4751
ϕ8,0 = 5111
ϕ9,0 = 10361
ϕ15,1 = 24642



Block 2: ϕ1,1 ϕ2,0 ϕ3,0 ϕ4,1 ϕ5,1 ϕ6,0 ϕ7,1 ϕ8,1 ϕ9,1 ϕ15,0

12 = χ1,1 1 . . . . . . . . .
341 = χ2,0 . 1 . . . . . . . .
511 = χ3,0 1 . 1 . . . . . . .
841 = χ4,0 . 1 1 . . . . . . .
2042 = χ5,1 1 . . . 1 . . . . .
2044 = χ6,1 . . 1 1 . . . . . .
3572 = χ7,1 . . . 1 1 . . . . .
4762 = χ8,1 1 . . . . . 1 . . .
4763 = χ9,0 . 1 1 . . 1 . . . .
5951 = χ10,0 . . . . 1 1 . . . .
7142 = χ11,1 . . . . 1 . . 1 . .
7144 = χ12,1 1 1 1 1 . . 1 . . .

10202 = χ13,1 . 1 . . . . 1 1 . .
11901 = χ18,0 . . . 1 . . . . 1 .
13442 = χ19,1 1 . . 1 1 . 1 1 . .
14281 = χ20,0 . . . . . 1 . . 1 .
21762 = χ25,1 . . . 1 . . 1 1 1 .
28561 = χ33,0 . . . . . 1 . . . 1
28564 = χ34,1 1 1 1 1 1 1 1 1 1 .
32641 = χ35,0 1 . 1 1 1 1 . . . 1
40961 = χ36,0 . . 1 1 . 1 . . 1 1
47601 = χ38,0 . . . 1 1 1 . 1 1 1
53551 = χ39,0 . . . 2 . . . 1 2 1

ϕ1,1 = 12
ϕ2,0 = 341
ϕ3,0 = 501
ϕ4,1 = 1542
ϕ5,1 = 2032

ϕ6,0 = 3921
ϕ7,1 = 4752
ϕ8,1 = 5112
ϕ9,1 = 10362
ϕ15,0 = 24641

Block 3: ϕ10,0 ϕ10,1 ϕ11,0 ϕ11,1 ϕ12+

10711 = χ14,0 1 . . . .
10712 = χ14,1 . 1 . . .
10713 = χ15,0 . . 1 . .
10714 = χ15,1 . . . 1 .
21421 = χ16+ . . . . 1
42841 = χ21+ . . 1 1 1
42842 = χ23+ 1 1 . . 1
42843 = χ37,0 1 . 1 . 1
42844 = χ37,1 . 1 . 1 1

ϕ10,0 = 10711
ϕ10,1 = 10712
ϕ11,0 = 10713
ϕ11,1 = 10714
ϕ12+ = 21421



Block 4: ϕ14,0 ϕ14,1

22951 = χ26,0 1 .
22952 = χ26,1 . 1
45901 = χ27+ 1 1

ϕ14,0 = 22951
ϕ14,1 = 22952


